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1. If question of the ellipse whose focus is (1,-1),

then directrix the line x-y-3=0 and eccentricity


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zpOmorodssoH

A Tz? + 2zy + Ty> — 10z + 10y + 7= 0
B.7x” + 2xy+ Ty’ +7=0
C.7z%2 + 2zy + Ty* + 10z — 10y — 7 = 0

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zpOmorodssoH

2. The lenth of the latus rectum of the ellipse

3z? + y? = 12is:

A4
B.3

C.8
4
D. —
V3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wwDLnsNvBKSF
https://dl.doubtnut.com/l/_UXbd1kWGjo8O

3. If e is the eccentricity of the ellipse

— + — = 1(a > b),then

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_UXbd1kWGjo8O

4. Find the equation of the ellipse which
passes through the points (3,1) and (2,2).
A.5z? + 3y* = 32
B.3z” + 5y = 32
C.5z? — 3y = 32

D.3z% + 5y? + 32 =0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XIY4ji2LUAhu
https://dl.doubtnut.com/l/_jzupXfuQPNQJ

5. The eccentricity of the ellipse

25z% + 16y° — 150z — 175 = O'is

N @

Y
o] w gl o] ot
|5

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_jzupXfuQPNQJ

6. Find the foci of the ellipse
25(z + 1) + 9(y + 2)° = 225.

A.(—2,1) and ( — 2, 6)

B.(—1,2) and ( — 1, — 6)

C(—1, —2) and (—2, — 1)

D.(—1, —2) and (— 1, — 6)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9xmNxoIeQQ9e
https://dl.doubtnut.com/l/_m8hoW82AJvcq

7.The length of the latus rectum of the ellipse

5z + 9y* = 451is

N @

o
N | ot |,_.
ot

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_m8hoW82AJvcq

8. A circle is a limiting case of an ellipse whose

eccentricity :

A.tendsto O

B. tends to a

C.tendsto b

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_obQBCjqLhRfG
https://dl.doubtnut.com/l/_aULzlU0QDsz7
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9. The equatio +1=0

represents an ellipse, if

Ar >>5H

B.2<r<5)

Cr <2

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_aULzlU0QDsz7

5132

1—17r

10. The equation

represents an ellipse if :

Ar>1

B.r > 3

Cl<r<d

D. None of these

Answer: C

+

y2

r—3

+1=0

° Watch Video Solution



https://dl.doubtnut.com/l/_tFyHj2uzwe3d
https://dl.doubtnut.com/l/_7ALLU8jg2aXC

1. Sum of focal distances of an ellipse

2 2

+ = 1lis:

@M| 8

b
A. 2a
B. 2b
C.a+b

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7ALLU8jg2aXC

12.If Fy is (3,0) and Fy is ( — 3,0) and P is

22 y?
any point on the ellipse + = 1, then

25 16

|PF1| + | PF3| equals :

A.6
B.8
C.10

D. 12

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5q17tKVOiuSt

13. Let F; and F;, be the points
(0, —4) and (0, 4). The locus of the point P
such that |PF;| + |PF3| = 6is:

A. an ellipse

B. the segment [F} Fy]

C.the st. line containing F; and Fj

D. None of these

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_vTTiE31bGqfN

14. The foci of an ellipse are (0, +1) and
minor axis is of unit length. Then the equation
of the ellipse is :

A 2z% + y2 = 2

B.z% + 2y = 2

C.4z° +20y® =5

D.20z% + 4y* = 5

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_gbYG3irbZnqF

15. The equation of the ellipse with foci at

(£ 3,0) and vertices ( £ 5,0) is :

332 y2
A — 4+ = =
% g ~ 1
$2 y2
B.— + = =1
25+16
5132 y2
C -+ =1
16+25

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xo54MpmrgXHY
https://dl.doubtnut.com/l/_jDppjKeicH8J

16. Equation of the ellipse whose focus is
(6,7) directrix is

1
r+y+2=0and e = —is-
V3

52 — 2zy + 5y? + 76z + 88y — 506 = 0

5z — 2zy + 5y? — 76z — 88y + 506 = 0

5z + 2zy + 5y? — 76z — 88y + 506 = 0


https://dl.doubtnut.com/l/_jDppjKeicH8J

522 + 2zy + 5y + 76z + 88y + 506 = 0

Answer: B

° Watch Video Solution

17. The curve represented by

x = 3(cost + sint), y = 4(cos t—sint), is

A. a circle

B. a parabola


https://dl.doubtnut.com/l/_jDppjKeicH8J
https://dl.doubtnut.com/l/_D4yL7kbpCHjE

C. an ellipse

D. a hyperbola

Answer: C

O Watch Video Solution

18. The equations of tangents to the ellipse

9x2% + 16y2 = 144 from the point (2,3) are:


https://dl.doubtnut.com/l/_D4yL7kbpCHjE
https://dl.doubtnut.com/l/_NrzvqrQs6SiL

Cy=2,z=3

Dy=3,z+y=25

Answer: D

o Watch Video Solution

19. The number of real tangents that can be
drawn to the ellipses 3z% + 5y° = 32 and

252 + 9y* = 450, passes through (3, 5), is

A.O


https://dl.doubtnut.com/l/_NrzvqrQs6SiL
https://dl.doubtnut.com/l/_DAggSM3Dex3s

B.2

C.3

D.4

Answer: C

o Watch Video Solution

20. The line y = mx + c is a normal to the

ellipse



https://dl.doubtnut.com/l/_DAggSM3Dex3s
https://dl.doubtnut.com/l/_4RufimQ7IlPy

B.c2 = a’m? + b

C.c® = a’m? — b

D. None of these

Answer: B

o Watch Video Solution

21. The equation,

2x° + 3y* — 8z — 18y + 35 = K represents

A.apointifk =0


https://dl.doubtnut.com/l/_4RufimQ7IlPy
https://dl.doubtnut.com/l/_WUZegDaGLvNm

B.no locusifk > 0

C.anellipseif k < 0

D. None of these

Answer: A

o Watch Video Solution

22. The equations of tangents to the ellipse

9z% + 16y2 = 144 from the point (2,3) are:

A3


https://dl.doubtnut.com/l/_WUZegDaGLvNm
https://dl.doubtnut.com/l/_tlEAIYsHsL3u

B.4
C.3/2

D. None of these

Answer: B

o Watch Video Solution

23, If
P = (z,y),F, =(3,0),F, = (—3,0), and
1622 + 25y* = 400, then PF, + PF, equal 8

(b) 6 (c) 10 (d) 12


https://dl.doubtnut.com/l/_tlEAIYsHsL3u
https://dl.doubtnut.com/l/_NO0AA0oCGIBG

A.8

B.6

C.10

D. 12

Answer: C

o Watch Video Solution

24. The number of values of ¢ such that the

straight line y = 4x 4 ¢ touches the curve


https://dl.doubtnut.com/l/_NO0AA0oCGIBG
https://dl.doubtnut.com/l/_OpfHufxeB5pq

= 1is 0 (b) 1(c) 2 (d) infinite

B.1

C.2

D. infinite

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_OpfHufxeB5pq

22 Y2
25. Chords of the ellipse — + —= =1 are
a b?

drawn through the positive end of the minor
axis. Then prove that their midpoints lie on
the ellipse.

A.acircle

B. a parabola

C. an ellipse

D. a hyperbola

Answer: C

I o WA _ L _L w2 ldl_ _ e~_1_..0°_



https://dl.doubtnut.com/l/_d0e3N4ILIpks

L vvdadilil viUCO o0VIULiVIlI

26. the centre of the

(z +y—2)° N (z —y)°

9 16 =1,is

A. (0, 0)

B.(1,1)

C.(1,0)

D. (0, 1)

Answer: B

ellipse

o Watch Video Solution



https://dl.doubtnut.com/l/_d0e3N4ILIpks
https://dl.doubtnut.com/l/_C7EejwXaIh3O

27. The radius of the circle passing through

2 2

the foci of the ellipse TG + y9 and having its

center (0, 3) is 4 (b) 3 (c) v/12 (d) g

A 4

Answer: A

I o Watch Video Solution


https://dl.doubtnut.com/l/_C7EejwXaIh3O
https://dl.doubtnut.com/l/_uHiJquWXilB3

28. The equation to the ellipse whose foci are

1
( £ 2, 0) and eccentricity 5 is :

$2 y2
A—+-—=1

2 " 16

LE2 y2
=== =1
" T6 T 1

2 2

Y
C—+==1

6 8

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_uHiJquWXilB3
https://dl.doubtnut.com/l/_iCKrg4H9ptXs

29. Tangents are drawn to the ellipse

x? Y
— + — =1 at the end of latus rectum. Find

9 5

the area of quadrilateral so formed

A. 27
B.27/2
C.27/4

D.27/5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_iCKrg4H9ptXs
https://dl.doubtnut.com/l/_EiX6FCVvAUgw

30. The eccentricity of an ellipse with its centre

at the origin is 3 If one of the directrices is x

=4, then the equation of ellipse is

A3z +4y* =1
B.3z% + 4y® = 12
C.4z? + 3y = 12

D.4z% + 3y* =1

Answer: B

| 8


https://dl.doubtnut.com/l/_EiX6FCVvAUgw
https://dl.doubtnut.com/l/_zJKLljsDCZvF

Level li Mcq

1. Let P be a variable point on the ellipse

2

2
:1:_2 + y _ 1 with foci S; and Ss. If A be the
a b2

area of the triangle P.51.52, then the maximum

value of A is :

A. ab

B. abe


https://dl.doubtnut.com/l/_zJKLljsDCZvF
https://dl.doubtnut.com/l/_qQJytkrRb3G6

D. None of these

Answer: B

° Watch Video Solution

2. If the normal at any point P on the ellipse

x? y2
— + — =1 meets the axes at Gandg,

a? b2

respectively, then find the raio PG: Pg-


https://dl.doubtnut.com/l/_qQJytkrRb3G6
https://dl.doubtnut.com/l/_1JHT9ElB0RfH

C.a:b

D. none of these

Answer: B

o Watch Video Solution

3. the equation of the circle passing through

22 Y2
the foci of the ellipse — 4+ — =1 and

16 9

having centre at (0,3) is

A3


https://dl.doubtnut.com/l/_1JHT9ElB0RfH
https://dl.doubtnut.com/l/_IPUsOgiL2DDw

B.5

C.4

D. None of these

Answer: C

o Watch Video Solution

2 2
Yy
a2+b2:1

with V' as the major axis. Find the maximum

4. P is a variable on the ellipse

area of triangle APA’


https://dl.doubtnut.com/l/_IPUsOgiL2DDw
https://dl.doubtnut.com/l/_HGA9EwH3U1gd

B. 2ab

C.ab

D. none of these

Answer: C

° Watch Video Solution

5. if the tangent at the point

16
(4 cos ¢, Vs sin q§> to the ellipse


https://dl.doubtnut.com/l/_HGA9EwH3U1gd
https://dl.doubtnut.com/l/_n4ocG2ASF2Cv

162 + 11y* = 256 Is also a tangent to the
circle 22 4+ y* — 2z = 15, then the value of ¢
is

A +7/3

B.+m/4

C.tm/2

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_n4ocG2ASF2Cv
https://dl.doubtnut.com/l/_B50VSXVvAZot

6. If a tangent of slope m' at a point of the
ellipse passes through (2a, 0) and if e denotes
the eccentricity of the ellipse then (A)
m2+e2=1 () 3m?>+e—1 (B)
2m? + e* = 1 (D) none of these

Am?+et=1

B.2m? +e° =1

C.3m?+e? =1

D. None of these

Answer: C

[


https://dl.doubtnut.com/l/_B50VSXVvAZot

I O Watch Video Solution

7. The normal at an end of a latus rectum of
22 yz

the eIIipse — + *h 1 passes through an

end of the minor axis if

Ael+e—1=0

B.e>+e—1=0

Celdte?2—-1=0

Det4+e2—-1=0

Answer: D


https://dl.doubtnut.com/l/_B50VSXVvAZot
https://dl.doubtnut.com/l/_K68fMRftZM4H

° Watch Video Solution

2 2

8. Let E be the ellipse a; + 311 = 1 and C be

the circle 22 + y2 = 9. Let P and Q be the

points (1,2) and (2,1) respectively . Then

A. Q lies inside C but outside E

B. Q lies outside both Cand E

C.Plies inside both Cand E

D. P lies inside C but outside E


https://dl.doubtnut.com/l/_K68fMRftZM4H
https://dl.doubtnut.com/l/_4Ntio4y1j18s

Answer: D

o Watch Video Solution

9. The eccentricity of an ellipse whose pair of a

conjugate diameterarey = rzand 3y = — 2z

s (A) = (B) = (©) — (D
IS()3()§()$()none

>
Wl w| = «\|
—
w

@

N


https://dl.doubtnut.com/l/_4Ntio4y1j18s
https://dl.doubtnut.com/l/_YPmV0ZUPkOCp

D. None of these

Answer: D

° Watch Video Solution

10. An ellipse has OB as a semi-minor axis.
S1, Sy are its foci and the angle S;BS, is a
right-angle, then the eccentricity of the ellipse

IS :

1
A —
V2


https://dl.doubtnut.com/l/_YPmV0ZUPkOCp
https://dl.doubtnut.com/l/_hTK5pPgmz10z

1
B. —
V3

C.

w| o

D. None of these

Answer: A

o Watch Video Solution

1. The equation of the auxiliary circle of the
ellipse :

922 + 4y?> — 8y — 32 =0is :


https://dl.doubtnut.com/l/_hTK5pPgmz10z
https://dl.doubtnut.com/l/_1OXKy3TJXUe4

Azl+yP—2y—8=0
B.a’+y° —8y+7=0
Czl+y’—4z—-5=0

D. None of these

Answer: A

o Watch Video Solution

12. The equation of the director circle of the

ellipse 2 + 2y* + 2z — 12y + 15 = O is :


https://dl.doubtnut.com/l/_1OXKy3TJXUe4
https://dl.doubtnut.com/l/_YQXRl3HmYtYa

Az +yP+2z—6y—4=0
Bz’ + 4y’ +2z —6y+4=0
Czl4+y’+2x —12y+4=0

D.z’+y’+2x —12y—4=0

Answer: B

o Watch Video Solution

13. A man running around a race course notes
that the sum of the distances of two flagposts

from him a always 10m and the distance


https://dl.doubtnut.com/l/_YQXRl3HmYtYa
https://dl.doubtnut.com/l/_ytCSYJOHBZUn

between the flag posts is 8m. Then the area of

the path he encloses in square meters is 157

(b) 207 (c) 277 (d) 307

A. 8T

B. 127

C. 187

D. 157

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ytCSYJOHBZUn
https://dl.doubtnut.com/l/_WgChlaICVnBX

14. If the focal distance of an end of the minor
axis of an ellipse (referred to its axes as the
axes of xandy , respectively) is k and the

distance between its foci is 2h, them find its

equation.
2P
k? K%+ h?
L A
ER T T
2 v
2R
2 2
T
@ Y
k2 h?
Answer: C

[ 1


https://dl.doubtnut.com/l/_WgChlaICVnBX

I O Watch Video Solution

15. A tangent at any point on the ellipse

2 P
5 + T = 1 is cut by the tangents at the

extremities of the major axis at 77 and 7Tb.

The circle on T715 as diameter passes through

the point:


https://dl.doubtnut.com/l/_WgChlaICVnBX
https://dl.doubtnut.com/l/_1fs4GjZUf3dj

Answer: B

o Watch Video Solution

16. If y = x and 2z + 3y = 0 are equations
of a pair of conjugate diameters of an ellipse,

then its eccentricity is :

1
A —
V3
1
B. —
V2
c 2
"V 3
2
D. —
V5


https://dl.doubtnut.com/l/_1fs4GjZUf3dj
https://dl.doubtnut.com/l/_VUF64qpV4eTR

Answer: A

o Watch Video Solution

17. If chord ofcontact ofthe tangents drawn
from the point (a,B)to the ellipse

332 2

— + — = l,touches the circle
a2 b2

z? + y? = %, then the locus of the point
A. c? (a,4zc2 + b4y2) = a*t?
B. ¢’ (a4y2 + b4:1:2) = a*t?

C.c? (a4y2 + bix? — a3b3) — o*b*


https://dl.doubtnut.com/l/_VUF64qpV4eTR
https://dl.doubtnut.com/l/_VN1yhSfMbPTM

D. None of these

Answer: B

° Watch Video Solution

18. If the polar of — —|— z—2 =1 is always
touching the eII|pse — + y_ = 1, then the
b  a?

locus of the polaris :

A. a circle

B. a parabola


https://dl.doubtnut.com/l/_VN1yhSfMbPTM
https://dl.doubtnut.com/l/_Xu9PevRBjSJ6

C. an ellipse

D. a hyperbola

Answer: C

o View Text Solution

19. S; and S, are the foci of the elipse

2 2

ad + i :1<a€ (O, 1)) and P

sin? o cos? o 4

is the point on the ellipse, then perimeter of

triangle PS1.5; is


https://dl.doubtnut.com/l/_Xu9PevRBjSJ6
https://dl.doubtnut.com/l/_gV3WbrkCrrpT

D.(1+e)z? + (1 —e)y® = a

Answer: C

o Watch Video Solution

20. Suppose S and S' are foci of the ellipse

2y
— + — = 1. If P is a variable point on the

25 16


https://dl.doubtnut.com/l/_gV3WbrkCrrpT
https://dl.doubtnut.com/l/_9EI62HS0gSSw

ellipse and if A is the area (in sq. units) of the

triangle PSS' then the maximum value of A is

double of

A.8

B. 12

C.16

D. 20

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9EI62HS0gSSw
https://dl.doubtnut.com/l/_aL8NyHA19etd

2 2

21.If the foci of the ellipse % n Z_2 — 1 and

the hyperbola T — ¥ _ L incid
e yper Oola 144 — 8]_ = 25 coinciae

write the value of b2.

Al

B.5

C.7

D.9

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_aL8NyHA19etd

2

22. If tanatanf = — 2—2, then the chord

joining the points "a’ and '3’ on the ellipse

z2 Y
— + =— =1 will subtend a right angle at

a? b2

the :

A. centre
B. focus
C. end of major axis

D. end of minor axis

Answer: A



https://dl.doubtnut.com/l/_xwPFihY8UcXT

L___Watch Video Sojution )

23. Find the equation of the normal to the

2 2

Y
—|—b2

L

ellipse = 1 at the positive end of

a2

the latus rectum.

Az —ey—ea=0

B.z +ey+e’a=0
2 _

Cx—ey—ea=0

D. None of these

Answer: A



https://dl.doubtnut.com/l/_xwPFihY8UcXT
https://dl.doubtnut.com/l/_CSEEu1M1Bvic

Watch Video Solution

24. if tangents are drawn to the ellipse
z? + 2y® = 2 all points on the ellipse other
its four vertices then the mid-points of the
tangents intercepted between the coordinate

axis lie on the curve



https://dl.doubtnut.com/l/_CSEEu1M1Bvic
https://dl.doubtnut.com/l/_W093QAlag6of

Answer: A

o Watch Video Solution

25. Area of the greatest rectangle that can be

332 2

Y .
- + 72 —=1is:

inscribed in the ellipse

A. ab

B. 2ab

N
o e

o
8
S


https://dl.doubtnut.com/l/_W093QAlag6of
https://dl.doubtnut.com/l/_ALjZNxILzeJ2

Answer: B

o Watch Video Solution

26. An ellipse has OB as the semi-minor axis,
FandF'’ as its foci,and ZFBF'’ aright angle.

Then, find the eccentricity of the ellipse.

N %

o

MH<|| g‘ ORI
= —
w &)


https://dl.doubtnut.com/l/_ALjZNxILzeJ2
https://dl.doubtnut.com/l/_eq1tlENooqfG

Answer: B

o Watch Video Solution

27. A focus of an ellipse is at the origin. The
directrix is the line £ = 4 and the eccentricity

1
Is 2 Then the length of the semi-major axis is

Wk Wl w| oo w| ot


https://dl.doubtnut.com/l/_eq1tlENooqfG
https://dl.doubtnut.com/l/_g2adeGqiDYZR

Answer: B

° Watch Video Solution

28. The ellipse z? + 4y? = 4 is inscribed in a
rectangle aligned with the coordinate axes,
which in turn is inscribed in another ellipse
that passes through the point (4, 0). Then the
equation of the ellipse is (1) z? + 16y = 16
(2) z? 4+ 12y* = 16 (3) 4x® + 48y* = 48 (4)

4z® + 64y® = 48


https://dl.doubtnut.com/l/_g2adeGqiDYZR
https://dl.doubtnut.com/l/_uQYI8C9RUHfu

A z* + 16y° = 16
B.z? + 12y% = 16
C. 4z + 48y* = 48

D.4z? + 64y® = 48

Answer: C

o Watch Video Solution

29. If the locus of the middle point of the

portion of a tangent of the ellipse


https://dl.doubtnut.com/l/_uQYI8C9RUHfu
https://dl.doubtnut.com/l/_9B4a0XJqJCnE

—- :Z— = 1 included between the axes is

a
a2 b2
(_) + (—2) = k ,then the value of k is

L Yy
2 2
y _
A§+b_2_4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9B4a0XJqJCnE

30. In a model, it is shown that an arc of a
bridge is semi-elliptical having major axis
horizontal. If the length of the base is 9 m and
the highest point of the bridge is 3 m from the
horizontal , the best approximation of the
height of the arch, 2 m from the centre of the

base is approximately :

A.2m

%

|~ w| oo
3

3


https://dl.doubtnut.com/l/_esWtoWYbjEYl

11
D.—m

Answer: B

° Watch Video Solution

3. A tangent is drawn at the point
7r

(3v/3cos 6, sinh) for 0 < 0 < 5

of an ellipse
22

57 + y? = 1.The least value of the sum of
the intercepts on the coordinate axes by this

tangent is attained at 6 equal to

N
6


https://dl.doubtnut.com/l/_esWtoWYbjEYl
https://dl.doubtnut.com/l/_YzhwjMqTy6NB

Answer: A

o Watch Video Solution

£U2 y2

32. If pe) + rh 1 is an ellipse and tangent

at any point cuts the co-ordinate axes at P and

Q, then the minimum area of triangle OPQ is :


https://dl.doubtnut.com/l/_YzhwjMqTy6NB
https://dl.doubtnut.com/l/_9F0KqeqKu7Y4

Answer: A

o Watch Video Solution

33. The line passing through the extremity A
of the major exis and extremity B of the minor

axis of the ellipse z*+ 9y* =9 meets is


https://dl.doubtnut.com/l/_9F0KqeqKu7Y4
https://dl.doubtnut.com/l/_WGjpXNwEM9hb

auxiliary circle at the point M. Then the area
of the triangle with vertices at A, M, and O

(the origin) is

31
10
29
10
21
10
27

D. —
10

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_WGjpXNwEM9hb
https://dl.doubtnut.com/l/_lWs5jfoKu7vn

34. The normal at a point P on the ellipse
z? + 4y® = 16 meets the x-axisat Q. If M is the
mid-point of the line segment PQ, then the
locus of M intersects the latus-rectum of the

given ellipse at the points :

3\/‘ 2
f(+353)
V19
s

(=
C(i2fi )
°(

B.

+2,/3, + 3)

Answer: C


https://dl.doubtnut.com/l/_lWs5jfoKu7vn

° Watch Video Solution

Latest Questions From Aieee Jee Examinations

1. Equation of the ellipse whose axes are the
axes of co-ordinates and which passes

through the point (—3,1) and has

A.3z% + 5y — 32 =0

B.5z? +3y* —48 =0


https://dl.doubtnut.com/l/_lWs5jfoKu7vn
https://dl.doubtnut.com/l/_91Ten8rEwM8F

C.3z° +5y> —15=0

D.5z% +3y> —32=0

Answer: A

o Watch Video Solution

2. An ellipse is drawn by taking the diameter of
the circle (z —1)*>+4?> =1 as semi-minor
axis and a diameter of the «circle
22 + (y— 2)° =4 as its semi-major axis. If

the centre of the ellipse is the origin and its


https://dl.doubtnut.com/l/_91Ten8rEwM8F
https://dl.doubtnut.com/l/_ujhhpmjrGWCM

axes are the co-ordinate axes, then the

equation of the ellipse is :

Adz? +y* =4
B.z? + 4y® = 8
C.dz? +y* =8

D.z% + 4y* = 16

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ujhhpmjrGWCM

3. The equation of the circle passing through

2 2

: : x Y
the fi f the ell =1, and
e foci o e ellipse 16 + 9 an

having centre (0, 3) is :
Azl+y>  —6y+7=0
Bz’ +y? —6y—5=0
Cxl+y>—6y+5=0

D.z’ +y? — 6y —7=0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_cXjSrRDcpag0

4. The locus of the foot of perpendicular
drawn from the centre of the ellipse
z? + 3y®> = 6 on any tangent to it is :

A. (a32 — y2)2 = 6z% — 2y2

B. (:132 + y2)2 = 6z° + 2y

C. (ac2 + y2)2 = 622 — 2°

D. (:c2 — y2)2 = 622 + 2y2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jgPlGKz5gtex

5. The are (in sqg. units) of the quadrilateral

formed by the tangents at the end points of

T
the latera-recta to the ellipse 9 + = 1,

IS :

Answer: D

I ° Watch Video Solution


https://dl.doubtnut.com/l/_AiKRSaL0S3G5

Recent Competitive Questions

1. The eccentric angle of the point (2, \/5)

2

y’ _
16+T Lis

lying on

= >
= o3 wa o3

0

o


https://dl.doubtnut.com/l/_AiKRSaL0S3G5
https://dl.doubtnut.com/l/_ouheKAXhL6yb

Answer: B

o Watch Video Solution

2. If the latus-rectum of the ellipse is half the

minor axis, then its eccentricity is :

V3

Ao
1
B. —
V3
1
C. —

V2

D. None of these


https://dl.doubtnut.com/l/_ouheKAXhL6yb
https://dl.doubtnut.com/l/_d8Y1ZYBxilaG

Answer: A

o Watch Video Solution

3.If Cis the centre and L and L are the ends of

2 2

x
- f the elli =1
the latus-rectum of the ellipse 5% + 16 ,

then the area of the triangle CLL is :

A. 4.8 sq. units

B. 9.6 sq. units

C. 19.6 sqg. units


https://dl.doubtnut.com/l/_d8Y1ZYBxilaG
https://dl.doubtnut.com/l/_zLA1JFvyKmfT

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zLA1JFvyKmfT

